Leuze
BEAR#BIER
=R WA S
Beim=: 50136021
ISS 112MM/4NC-8N0-M12

&

- BRSH
- Ry B4
- BRER
- BR

- BENER
- FmE
- e

- EfH

Em
Sl

i

ﬁ

djo
e
H

B TR c € -
P67, 1

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-06-04 1/6



BRI « B RS : 50136021 « ISS 112MM/4NC-8NO-M12

BRSH

ERiiE

%5l
BRI NBERE S,
NS,

BAKE
RiF R

T BEBIE

e g U,

FRRLE

FeaT
REEE  BA (S WEDL)
EERE , BA (S WEDL)
FRME

i
EESIES £kt

FrREHH
EBERE
RAFF KRB
BRAFIRER
B ER

FrREH 1
FF R TAF
FRRE

N5
FF R
HERT
T
EONE

EH1
Pk

el
IR
el
EE
Lo

The Sensor People

112
8 mm
0..6.48 mm

AR AR
"R
puk=4c 7

10...30 V, DC
0..10 %, RE Uy
0..10mA

10 %

1%

15 %

DC

200 mA
0.01 mA
<2V

S4E, PNP
NC (EMAES)

500 Hz
25 ms

14

fites B R
[t k]
e
M12
&k
£
45|
A-Ymt5

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

WS

&1

R~ (@ xL)
RS
RERA
AFEHH
SEAE
BB AR
AE
AZRHE

REXRE
PRAEBAR

RIEME R

BREH
LEDZ

B iR

HRERE , T
HRERE ,

TAE

Bt SR
BIFIFRIE

EIERH
4 Fe360

b
BRES
ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ECLASS 15.0
ETIM 5.0
ETIM 6.0
ETIM 7.0
ETIM 8.0
ETIM 9.0
ETIM 10.0

info@leuze.com « www.leuze.com

Leuze

B

12 mm x 55 mm
M12 x 1 mm
IEFTF

&E

R E

BR, REE (PBT)
2649

46 , RAL 3000
iR

RIRIBL

24 x 24 mm? , Fe360

LED
14

-25..70°C
-25...70°C

IP 67
IEC 60947-5-2

85365019
27270101
27270101
27270101
27270101
27270101
27274001
27274001
27274001
27274001
EC002714
EC002714
EC002714
EC002714
EC002714
EC002714

REBAREEHRF

BBi% : +49 7021 573-0 « {5 E : +49 7021 573-199  chi « 2025-06-04

2/6



BRI « B RS : 50136021 « ISS 112MM/4NC-8NO-M12

R E4

AR BN EXK
A BHXE
M2
I i A
i
Q¢ )
K]
v < o
O G P
\ Y
P e ¢ |LED
i
N
, |
| M12x1
B ERE
HE
Ihag it e B R
ESmH
e sk
2L M12
el sk
gl &8
| HIzk 4 ABlR
R A-4RE5
5B Ell i
1 V+
2 OUT 1
3 GND
4 n.c.

The Sensor People

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

info@leuze.com « www.leuze.com

BBif : +49 7021 573-0 « £ : +49 7021 573-199

Leuze

REBAREEHRF
chi « 2025-06-04 3/6



BRI « B RS : 50136021 « ISS 112MM/4NC-8NO-M12

Eipap

TP RE

S, [mm] 8

D1 [mm] 12

typ. = 3S, __ D2[mm] 24
d, D2 ,d, D3 D3 [mm] 12

D1

BREME TR

LED ER
1 HE KR
FmESHER

FmEM . ISXYYY XX/ZZZ-AAA-BBBB

ISX ThRERE / Rt
IS : BRI X |, FrHRIT
ISS : BRKFF X |, miRit

YYY E ]|
104 : @ 4.0 mm %5l
108 : T M8 x 1 ARG ™=@ R5I
112 : 7 M12 x 1 SR ™= R R
118 : 7 M18 x 1 JMREH ™= BRI
122 : M AFAER XA 18 x 18mm R 5l
130 : # M30 x 1.5 MR ™= @ R 51
144 : ST A FAER X 40 x 40mm A5
180 : M A HATER XA 80 x 80mm R 5l

XX A&
MM : £BAE (BRXE : BH ) / AFIIRK
PP : BBRHNE
MP : €BAF (BRXIE - 2H ) / AFIRY
777 Frx 25 H

4NO : PNP R&&E |, EFF = (NO)
4ANC : PNP @&4& , %A (NC)
44 : PNP RAE , EFF bR (NO) / EAfRR (NC)
2NO : NPN &4E , Bt (NO)
2NC : NPN & |, ERfdR (NC)
22 : NPN &4&& , % (NO) / EHAER (NC)
AAA MESTE / REFR
1E2 : BN ESTERE 1.2mm/ FFLE
2E0 : HRRMESBEEXRE 2.0mm/ FFLE
4E0 : HRRMESBEEE 4.0mm/ FFLE
4ANO : RN ESBELRE 4.0mm / IEFFERE
5E0 : RN EBSETEXE 5.0mm / FFLE
6E0 : HRIRMESBEEXRE 6.0mm/FFLE
8EO0 : HRRMESBTEEXRE 8.0mm/FFLE
8NO : RN ESBELAE 8.0mm / IEFFRE
10E : R ESBE XA 10.0mm / FERE
15N : WPRM ESEE R 15.0mm / IEFTFFERE
16E : RN ESBE XA 16.0mm / FERE
16N : WPRM ESEERE 16.0mm / IEFTFFERE
20E : PR ESEE R 20.0mm / FFFERE
25N : R ESBE LR 25.0mm / IEFFRE
30N : PR ESEE KR 30.0mm / FEFFLE
40N : R ESBE LA 40.0mm / IEFFRE
50N : PR ESEE KR 50.0mm / FEFFLE

Leuze electronic GmbH + Co. KG

The Sensor People In der Braike 1, 73277 Owen

Leuze

ELs

IF R B /T RRS

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBEAREEHRA
chi « 2025-06-04

4/6



BRI « B RS : 50136021 « ISS 112MM/4NC-8NO-M12

7= B R Leuze

DDD A
HUOH @ 848, FRAERE 2000 mm , 37
M8.3 : M8 Bl E#ERR , 3 & (k)
M12 : M12 ElERESR |, 4 & (@)
TB.4 : ¥%F , 4 N5
050 : 48 , #RERE 5000mm , 3 /&

Y FIE T AR SRR IIREE R 5 MAI ML www.leuze.com,

L

/\ wsaanemne

S AFEmAEReLRE  RERTARRY,
© REERT A SFAFREAIET.
S BRREERARERA R

BLfF
EERR - EEES

Bt RS B B e

s

50130654 KD U-M12-4A-P1- EZBY L M12, BFY, i@, A-4RES, 4 NSl
020 EEk, LED: &
2 FF O
BRE &
BAKE: 2,000 mm
FEME: PUR

® —uaE

50130657 KD U-M12-4A-P1- FEREEBRY RN S M12, BT, AR, A4S, 4 N5| R
050 E#E:k, LED: &
2 FF 0w
BR®: &
B KE: 5,000 mm
PFEMEL: PUR

® —uE

50130648 KD U-M12-4A-V1- EREEBRY A HESL M12, B, fREE, A-4RES, 4 NSIR
020 F4Ek LED: &
2 FF O
BR® &
B KE: 2,000 mm
FEMEL PVC

® —uIE

50130652 KD U-M12-4A-V1- YEEEBY R K, M12, B, fREE, A-4RED, 4 NEIRD
050 Bz, LED: &
HERE2: T O
AR B
BYKE: 5,000 mm
FEME: PVC

—(E

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-06-04 5/6



BRI « B RS : 50136021 « ISS 112MM/4NC-8NO-M12

B Leuze

RERE - HAtb

B trms =L [ Wi
50111499 MC 012K *x& A£E: 12 mm

BERIZZRIRI REX
BEMNEES BILRE
RKEMEEH: AIRE
RBHRIZZRA: NI

Y PR A AE S RE LT SN MEEAEMAESTEN TRETF.

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-06-04 6/6



